

Thank you for downloading

# OET Dentistry Case Notes by Benchmark

# **OET Writing Correction Packages**

Regular (8 letters) - Correction time for each letter is 3 days Urgent (4 letters)\* - Correction time for each letter is 1 day

\*Urgent package also includes 1 Bonus OET Test

(with sample answers but no additional writing correction or speaking evaluation.

Looking for discounts?

Try Bulk Correction Packages!

### **Benchmark Referral Case Notes - Harold Simmons (Mr)**

**Benchmark OET Writing Correction Service** 

WRITING SUB-TEST: DENTISTS

TIME ALLOWED: READING TIME: 5 MINUTES

**WRITING TIME: 40 MINUTES** 

Read the case notes and complete the writing task which follows.

### Notes:

Assume that today's date is 28 July 2025

You are a general dentist at a private dental practice in Ballarat, Victoria. Mr Harold Simmons attended your clinic today with complaints of recurrent discomfort and swelling around an upper right molar.

### **PATIENT DETAILS**

Patient Name: Harold Simmons (Mr)

**DOB:** 29 January 1982

### **Medical History:**

- Hypertension (Dx 2021)
- Mild asthma
- Lower back pain (occasional)
- Allergy-dust, pollen, penicillin
- Long-term obesity

### **Current Medication(s):**

- Losartan 50 mg OD
- Salbutamol inhaler (as needed)
- Paracetamol 500mg as needed for back pain

### **Social History:**

- Accountant
- Non-smoker, social drinker
- Active & independent in ADLs
- Sedentary lifestyle (long working hours)



# **OET Writing Correction Service**

# **Getting Grade B made easy!**

Benchmark's OET Writing Correction Service is run by a team of ESL teachers with medical background and extensive OET training experience, especially in the writing sub-test.

Popular Packages	<b>Urgent</b> Quick Return <b>\$40</b>	Regular Super Value <b>\$40</b>
You can send	4 letters	8 letters
Time to get the letter back (we're open 365 days a year)	1 day	3 days
Proofreading	<b>~</b>	<b>~</b>
Grammatical mistakes	<b>~</b>	<b>~</b>
Paragraph structure	<b>~</b>	<b>~</b>
Estimated grade	<b>~</b>	<b>~</b>
Recommendations	<b>~</b>	<b>*</b>
Send letter in MS Word or text files	<b>*</b>	<b>~</b>
Send scanned/image file*	<b>~</b>	×
Ask for clarification regarding corrected letters	<b>~</b>	~
Speaking Mock Test (\$5 Discount)**	<b>~</b>	×
Full OET Test***	<b>~</b>	×
	Buy Now	Buy Now

<sup>\*</sup>Handwritten/Scanned letters may take additional 24 hours to return.

<sup>\*\*\*</sup>Full OET Test includes Listening (Part A, B & C), Reading (Part A, B & C), Writing Case Notes and Speaking Role Play materials.



<sup>\*</sup>Letters submitted on Saturday and Sunday may take a few additional hours to return.

<sup>\*\*</sup>More about Speaking Mock Test service here

### **Family History:**

- T2 diabetes (parents)
- Hypertension (father)

### **Dental Treatment record:**

### 10 Oct 2018:

• RCT 16-restoration with porcelain fused to metal (PFM) crow

### 15 Jun 2024:

• Pt c/o tenderness in upper jaw; sinus tract tenderness; antibiotics prescribed

### **Today's Visit:**

- Swelling & pain in upper Rt jaw & swelling near RC-treated tooth 16
- H/o recurrent sinus tract in relation to 16 (noticed 1 yr ago

### **Examination:**

- PFM crown intact, swelling +nt (buccally) 16
- Sinus tract +nt; Heat test (no response)
- Mobility: Grade I
- IOPA: VRF& apical pathology-prognosis poor
- General exam: dry mouth↑ BP:150/85, pulse 95
- ↑ RBS: 300 mg/d
- BMI: 29 (obese)

### Impression:

- T2 diabetes?
- Hypertension?

### **Discussion:**

- Pt. not checked blood sugar or BP for 6 months
- Wants ref to new GP (regular GP on sabbatical leave for two months)



# **OET Course**

# **Doctors, Nurses, Dentists and Pharmacists**

# Comprehensive OET Preparation Affordable Detailed Explanations Full-Length OET Practice Tests Support

	Essentials 3 months \$79	Pro 4 months \$99	Pro Max 9 months \$219
Full tests - Listening/Reading with answers, Writing case notes with sample letters, and Speaking role plays with sample recordings	20 full tests	20 full tests	20 full tests
Basic tips and tricks	<b>*</b>	<b>~</b>	<b>~</b>
Grammar lessons on writing and speaking	<b>*</b>	<b>*</b>	<b>~</b>
Email support	<b>*</b>	<b>*</b>	<b>~</b>
Urgent letter corrections	×	4 letters	20 letters
Speaking mock test(s)	×	1	2 (with recording)
25 Advanced lessons (videos)	×	<b>~</b>	<b>*</b>
Ebooks (Listening, Reading, Writing, and Speaking)	×	<b>~</b>	<b>~</b>
10 Reading vocabulary tests	×	<b>~</b>	<b>~</b>
6 Writing knowledge tests	×	<b>~</b>	<b>~</b>
10 Grade-A role play recordings	×	<b>~</b>	<b>~</b>
10 Listening gap-fill practice tests	×	<b>~</b>	<b>*</b>
	Sign Up	Sign Up	Sign Up

For more information, visit our **OET Course webpage**.

# Improve your score with Benchmark OET!

**Paper and Computer-Based OET Compliant** 



### Plan:

### Medication:

- Amoxicillin 500 mg TID x 5 days
- Ibuprofen 400 mg, 6–8 hours (as reqd)

### Tx plan:

- Extrn of 16 under local anesthesia post control over DM & BP
- Implants or prosthetic rehab post extrn

### Ref to GP for:

- Further assessment of ↑ blood sugars & ↑BP
- Appropriate management
- · Approval for surgical procedure when pt clinically fit

### **Writing Task**

Using the information from the case notes, write a referral letter to a general practitioner, requesting review and management of the patient's blood sugar levels and new-onset hypertension. Address your letter to Dr.Benjamin Taylor, GP, Ballarat Medical Group, 92 Dana Street, Ballarat VIC 3350.

### In your answer

- •DO NOT use note form in the letter.
- Expand the case notes where relevant into full sentences.
- Use formal letter format.

The main part of the letter should be approximately 180-200 words long.



# **Looking for Discounts?**

# **Try Bulk Packages**

# **OET Writing Correction - Bulk Rates**

	Туре	Number of Tasks	Full price per package (USD)	Discount	Bulk price per pack ( (USD)	Bulk price per package (USD)	You save (USD)	Click here to order
Regular	20	5	100	10%	4.5	90	10	Buy Now
Regular	30	5	150	20%	4	120	30	Buy Now
Regular	50	5	250	25%	3.75	187.5	62.5	Buy Now
Urgent	20	10	200	10%	9	180	20	Buy Now
Urgent	30	10	300	20%	8	240	60	Buy Now
Urgent	50	10	500	25%	7.5	375	125	Buy Now

## Click **Buy Now** in the table to purchase a package.

- 1. The package will remain valid for 1 year from the date of purchase.
- 2. Regular letters will be returned within 3 days of submission.
- 3. Urgent letters will be returned within 24 hours of submission. (For scanned/handwritten letters, time will be 48 hours.)

